QWO NOOUL & W~

—_

712978
632530
712003
712979
712506
712980
712981
712982
712983
712984

N = b md N = o B

CWo~OHOUI BN —

712954
712955
712956
712957
631520
712958
712858
712876
712176
712110
712985
712180
712175
712503
712986
712505
712989
712987
712988
712990

JEFRUEFFEY Y G G ST O 2 YR e N e e

712048
712860
37206

712959
712016
712960
712961
712962
715008
715009
712107
715010
715011
712544

d PN =t RO NI A = ik —a N) b bk

O NS WN —

715012
712680
712685
712682
227407

715062

712692
715013

N —t —b ek b ot =t b

124



OO BHUD WA —

® 235806
® 235248

M10x29

M5x14

M8x10
M10x16

M5x30
Mb5x10

. M50

Ea D b o N G0 b =k ol b ik ok h ek ) b ek ek kb

® 240870
® 240932
® 236732
® 224497-01
® 235802
240830
240986
236999
® 236808
® 236809
® 236642
® 236936
e 228320
240682
235911
236642

- 246864

229849
236602
235911

M5x14

M6x45

M6x12

M6x12

-k e A FOPRO RN B o P b ket RND = B b -

236642
240969
227563
235216
240942
240941
240966
241003
241004
241002
235216
240967
240968
227563
240971
240970
241010
229985
229984
240833

M5x16

M5x18

N b b ek PNk N =L A NI ) = — ot b B S P

235212
235216
241080
e 240833
® 227764
® 229820
® 229818
® 240091
® 229973
® 229823
® 227763
® 229824
e 241081
® e 241082
® e 236394
241084
® 240042
® 235932
® 235892
® 240526
e 235933

M5x35

O P G S QN Qi G S A S N e g L

® 240043
® 240041
® 240617
® 240618
e 240039
® 240040
® 241085
e o 241086
® e 236394
240935
235530
235216
235214
240983
® 236378
® 236381
® 240985
® 240982
240980
228926
240936

M5x35

M6x20

M5x10

ek ke A N b b b BA RO RO R b b bk kPR =

125




1 712964 3
2 712963 1
3 e 712965 1
4 o 712966 1
5 o 712967 1
6 o 712968 1
7 e 712959 1
8 e 712129 1
9 e 712678 1

14 1113 12 10 o 712970 1

11 712971 1
12 o 712072 1
13 o 712973 1
14 o 712974 1
15 712975 1
16 o 712894 1
17 712976 1
1 715001 1
2 715002 1
3 e 715005 1
4 o 715006 1
5 e 715007 1
6 712226 1
7 712342 2
8 715004 1
9 715003 1
10 712964 1
11 712995 1
12 712479 1
13 712999 1
14 712996 1
15 712997 1
16 712998 1
R, WYK28 | - 712991 carbur
2 o 712638 1
© 3 o 712639 1
4 o 712992 1
5 o 712641 2
6 o 712642 1
7 e 712993 1
8 e 712994 1
9 o 712815 1
10 o 712653 1
11 o 712821 1
12 o 712656 1
13 o 712822 1
14 o 712658 1
15 o 712646 1
16 o 712649 1
17 o 712650 1
18 712908 1
19 o 712818 1

126



	Pro Mac 5200, Pro Mac 5300
	Figure 1
	Parts List

	Figure 2
	Parts List

	Figure 3
	Parts List

	Figure 4
	Parts List

	Figure 5
	Top
	Bottom
	Parts List

	Figure 6
	Parts List

	Figure 7
	Parts List

	Figure 8
	Parts List



